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Directions: Answer the following questions to comparing gquadratic functions.

1. Which quadratic function has the bigger y-intercept? Explain why. ET (O [ 9)
a.y=-x2+3x+8 b. ~ q
Y-ink (0,8) X [ 4 | 8 [ 2 [ [fo\]!
y 9 13 | 19 13 l o) | 7

pLeomar 9> 8.

2. Which quadratic function has the smallest y- m'rercep’r'c} Explain why.

e tapl oo the cugcr —irh‘{ﬂlapj

a.y=x2+4x-12 b.y= (x+3)(x 3) - c.y=[x+2)2-13

q-|n+ (0,-12) g = x - %L+3x,'q Lj: (x+2)YXt2) - 13

" 3 L5 Lj; }C2+2X F2X +4—13
Pork A hao -nt (0,9) -9
L s ! y= Xx* Hh(
St st qﬂnkr L -9)
0%(1119(_ N ohex (j—'lfﬂ’ O;
iIch quadratic tunctio fhe#epgesi.mgwmum value? Explain why.

a. iowermimmun\ b.

-4 I &= (1A 0 1 s [
y 0 5 -8 9 -8 -5 » ; o
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]
4, Which quadratic function has 1heale§m\l{1‘?'mruﬁ value? Explain why.

.y % S dfEs 3 b.y= {x+3)(x+1) (-3,0) c. 7

. (~4,2) 2, EL0) x | 2 [f3) 4
Vurky s (4 X Eﬁ 3* "—i . y | o \1) 5 :

4= (—}ta\)(’).ﬂ) o Very (5,——0
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Unit 5: Graphs and Chorac’ferisﬁcs of Quodfcﬂic Functions Practice

ebra | Support

wo seagulls dive into the ocean. The given func’nons represen’r the height of each seagull above the
face of the ocean as a function of the seagull’s horizontal distance from a center buoy. For each set of

ctions, determine which bird descends deeper into 1he ocean. Support your answer-with facts (work).
a. ﬁgf : .

\Firs’r Seagull: f(x)=3(x-2)"-5 V (2,-8)

Second Seagull: g(x) = {(-8.0)(F6=4)(-4.0)} V (-lo,"4)
First sOguull v\m&dmpubwmm -He-H.

o A EPRVEL Ok TE L Rt
First Seagull: f(x) =3¢ -12x+7 (2- 6)263

Second Seagull: g(x)_—(x+2) -6 V (-2,~ (9\

mmm%ull Wik daopur icaae - 475

b.

" k=2 -8 _8_9 =a(3)*-2)ll =3
{Ftrst Seagull: f(x)=2x*-8x+11 V(2,2) 28" 5= 4 J
Second Seagull:  x | .3 & 1 ,f\ \( (,9, 2)
gx)[ 11 & 3 3 |
I Qeanol M@J_@ Wind dpy- eamae 243.
6. Which function has the lesser maximum value? Why? d,w,n
A. Parabola with no x- mtercepts and a <)62 K OR | B. Parobolo with two x-intercepts and 0?0.2
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Use mélgrrcphs to help explain your an Jue haS h)
lo F Cani tyuch %x—ams efore :-}s_, a
e hno_ Y-ayisS. Parabla’ % Ond opno
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ggmaowa moe Ve 0w 4o bﬁOJm)ﬂm Y-OXiS. Tharefore
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